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int x[5]={4, 2, 5, 17, 30};
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int Xx[5];
for(int 1=0; i<=4; ++i)
cin>>x[i];
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for(int 1=0; i<=5; i++)

cout << x[i];
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int x[5] ={12, 5, 7},
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int x[5] ={0};
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float x[ ]={2.4,6.3,-17.1, 14.2, 5.9, 16.5} ;
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#include <stdlib.h>
#include <iostream.h>
#include <conio.h>

int main()
{
int X[5];
for (int 1=0;i<5;i++)
{
cout<<"enter number" <<i<<":";
cin>> x[i];
}
for(int i=4;i>=0;i--)
{
cout<<x[i]<<endl;
}
getch();
return O;
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#include <stdlib.h>
#include <iostream.h>
#include <conio.h>
int main()
{
float x[100];
float sum=0:;
for (int i=0;i<100;i++)
{
cout<<"enter number"<<i<<":":
cin>> XxJi];
}
for(int i=0;i<1005;i++)
{
sum=x[i]+sum;
}
cout<<sum:;
getch();
return O;

}
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#include <stdlib.h>
#include <iostream.h>
#include <conio.h>
int main()
{
float x[20];
float min;
for (int i=0;i<20;i++)
{
cout<<"enter number" <<i<<":
cin>> x|[i];
}
min=x[0];
for(int i=1;i<20;i++)
{

if(x[i]J<min)
min=x[i];

}

cout<<min;

getch();

return O; L
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